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AW–363

B.A. (Part—II) Semester–III Examination
(Optional Subject)

SOCIOLOGY
(Social Problems in India)

Time : Three Hours] [Maximum Marks : 80
Note :— (1) All questions are compulsory.

(2) All questions carry equal marks.
1. Meaning of social problems. Explain the nature of social problems. 16

OR
Explain the Disorganisation perspective. 16

2. Explain the causes of Population Explosion. 16
OR

Write on population policy in India. 16
3. Write short answers :

(a) Meaning of Migration 4
(b) Consequences of unemployment 4
(c) Causes of Farmers's Suicide 4
(d) Causes of Migration. 4

OR
(e) Define of unemployment. 4
(f) Consequences of migration. 4
(g) Definition of migration. 4
(h) Causes of unemployment. 4

4. Write short answers :
(a) Definition of Alcoholism. 4
(b) Nature of Drug Abuse. 4
(c) Effect of Alcoholism on Family. 4
(d) Causes of Drugs Addiction. 4

OR
(e) Impact of Drug Abuse. 4
(f) Causes of Alcoholism. 4
(g) Meaning of Alcoholism concept. 4
(h) Problems of Drug Abuse. 4

5. Choose the correct option and write :
(1) "Ordinarily dowry is the property which a man receives when he marries, either from his wife

or her family" is the definition of ___________. 1
(a) Max Radin (b) Max Weber
(c) MacIver and Page (d) None of the above

(2) __________ is the reason of increase in dowry system. 1
(a) Social custom
(b) Caste system
(c) False concept of social system
(d) All above
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(3) Dowry Prohibition Act came into existence in ___________. 1
(a) 1961 (b) 1960
(c) 1861 (d) 1860

(4) __________ is necessary to solve the problem of dowry system. 1
(a) Creating Public Opinion against dowry
(b) Education to girls
(c) To give freedom for choosing Life-partner
(d) All above

(5) Today, as per law marriageable age of boys and girls is _________. 1
(a) 16 and 18 years (b) 21 and 18 years
(c) 30 and 21 years (d) 21 and 20 years

(6) As per which Section of I.P.C. is demanding dowry a criminal offence ? 1
(a) 319 (b) 304
(c) 308 (d) 310

(7) At first Divorce Act was sanctioned in 1942 in the State of __________. 1
(a) Saurashtra (b) Mumbai
(c) Baroda (d) Madras

(8) ___________ is/are reason of divorce. 1
(a) False feelings of love (b) Opposite natures
(c) Distorted personality (d) All above

(9) The Right of Divorce is given to wife for husbands  __________. 1
(a) Rape (b) Unnatural sex
(c) Cruel behaviour (d) All above

(10) __________ is the last step of family disorganisation. 1
(a) Divorce (b) Crime
(c) Marriage (d) None of these

(11) The marital relation of a husband and the wife __________ because of divorce. 1
(a) Comes to an end (b) Not come to an end
(c) Becomes strong (d) None of these

(12) Hindu Marriage Act is for the people of __________ religion. 1
(a) Hindu (b) Baudh
(c) Sikh (d) All above

(13) The problems that occur due to a divorce are __________. 1
(a) Juvenile Delinquency (b) A broken home
(c) A problem of women (d) All above

(14) Hindu Marriage Act came into existence in __________. 1
(a) 1961 (b) 1955
(c) 1855 (d) 1861

(15) Divorce is a __________ problem. 1
(a) Economical (b) Political
(c) Social (d) None of these

(16) Following is the reason of violence against women : 1
(a) Son is the lamp of family
(b) Division of labour in economy on the basis of gender
(c) Man oriented culture
(d) All above
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AW–363
B.A. (Part—II) Semester–III Examination

(Optional Subject)
SOCIOLOGY

(Social Problems in India)
Time : Three Hours] [Maximum Marks : 80

¼ejkBh ek/;e½
lwpuk,¡ :– (1) loZ iz'u lksMfo.ks vko';d vkgsr-

(2) loZ iz'ukauk leku xq.k vkgsr-
1. lkekftd leL;spk vFkZ lkaxqu] lkekftd leL;sps Lo:i Li"V djk- 16

fdaok
fo?kVukRed ǹ"Vhdksu fo'kn djk- 16

2. yksdla[;k ok<hph dkj.ks fo'kn djk- 16
fdaok

^Hkkjrkrhy yksdla[;k /kksj.k* ;koj fygk- 16
3. FkksMD;kr mÙkjs fygk :

(v) LFkykarjkpk vFkZ 4
(c) csjkstxkjhps ifj.kke 4
(d) 'ksrdjh vkRegR;sph dkj.ks 4
(M) LFkykarjkph dkj.ks- 4

fdaok
(b) csjkstxkjhph O;k[;k 4
(Q) LFkykarjkps ifj.kke 4
(x) LFkykarjkph O;k[;k 4
(g) csjkstxkjhph dkj.ks- 4

4. FkksMD;kr mÙkjs fygk :
(v) e|fodkjkph O;k[;k 4
(c) vaeyh inkFkZ nqji;ksxkps Lo:i 4
(d) e|fodkjkps dqVqackojhy ifj.kke 4
(M) vaeyh inkFkkZP;k lsoukph dkj.ks- 4

fdaok
(b) vaeyh inkFkZ nqji;ksxkps izHkko 4
(Q) e|fodkjkph dkj.ks 4
(x) e|fodkj ;k laKspk vFkZ 4
(g) vaeyh inkFkkZP;k lsoukph leL;k- 4

5. [kkyhy fnysY;k iz'ukaps ;ksX; i;kZ; fuoMk o fygk %
(1) ^fookgkP;k osGh iq:"kkyk R;kaP;k iRuhdqMwu fdok dqVqackdMqu feG.kkjh laiÙkh Eg.kts gqaMk gks;* gh O;k[;k

dks.kh dsyh \ 1
(v) eWDl jWMhu (c) eWDl oscj
(d) eWdvk;Ogj vkf.k ist (M) ;kiSdh ukgh

(2) __________ gqaMk izFkk okBhps dkj.k vkgs- 1
(v) lkekftd izFkk
(c) tkrh O;oLFkk
(d) lkekftd ntkZph [kksVh dYiuk
(M) ojhy loZ
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(3) __________ lkyh ^gqaMk izfrca/kd dk;nk* vfLrRokr vkyk vkgs- 1
(v) 1961 (c) 1960
(d) 1861 (M) 1860

(4) gqaM;kph leL;k lksMfo.;klkBh __________ vko';d vkgs- 1
(v) gqaMk fojks/kh tuer fuekZ.k dj.ks
(c) eqyhuk f'k{k.k ns.ks
(d) thoulkFkh fuoM.;kps Lokra=; ns.ks
(M) ojhy loZ

(5) orZeku dkGkr dk;|kuqlkj Hkkjrkr eqyxk o eqyxh ;kaps fookgk;s vuqØes o; __________
vkgs- 1
(v) 16 vkf.k 18 o"kZ (c) 21 vkf.k 18 o"kZ
(d) 30 vkf.k 21 o"kZ (M) 21 vkf.k 20 o"kZ

(6) Hkkjrh; naM fo/kku dye __________ vUo;s gqaMk gks.ks gk QkStnkjh xqUgk Bjyk vkgs- 1
(v) 319 (c) 304
(d) 308 (M) 310

(7) loZizFke __________ jkT;kr 1942 e/;s ?kVLQhV dk;nk eatqj dj.;kr vkyk vkgs- 1
(v) lkSjk"Vª (c) eqacbZ
(d) cM+ksnk (M) enzkl

(8) __________ gs ?kVLQksVkph dkj.ks vkgsr- 1
(v) izseklaca/khpk Hkze (c) ijLij fojks/kh LoHkko
(d) fod`r O;fDreRo (M) ojhy loZ

(9) fookgkuarj irhus _________ dsys vlY;kl iRuhl ?kVLQksVkpk vf/kdkj ns.;kr vkyk vkgs-
1

(v) cykRdkj (c) xqnkeSFkwu
(d) ØqjorZu (M) ojhy loZ

(10) dqVqac fo?kVukph 'ksoVph ik;jh Eg.kts _________- 1
(v) ?kVLQksV (c) xqUgk
(d) fookg (M) ;kiSdh ukgh

(11) ?kVLQksVkus irh iRuhrhy oSokghd laca/k _________- 1
(v) laiq"Vkr ;srkr (c) laiq"Vkr ;sr ukgh
(d) n`< gksrkr (M) ;kiSdh ukgh

(12) fganq fookg dk;nk _________ /kekZrhy yksdkadfjrk ykxq gksrks- 1
(v) fganq (c) ckS)
(d) f'k[k (M) ojhy loZ

(13) ?kVLQksVkewGs _________ leL;k mn~Hkorkr- 1
(v) ckyxqUgsxkjh (c) HkXudqaVqac
(d) fL=;kaP;k leL;k (M) ojhy loZ

(14) fganq fookg dk;nk _________ lkyh vfLrRokr vkyk- 1
(v) 1961 (c) 1955
(d) 1855 (M) 1861

(15) ?kVLQksV _________ leL;k vkgs- 1
(v) vkfFkZd (c) jktfd;
(d) lkekftd (M) ;kiSdh ukgh

(16) _________ dkj.kkewGs dqVqackrxZr fL=;kfo:) fgalkpkj gksr vkgs- 1
(v) eqyxk gk oa'kkpk fnok vkgs (c) vFkZO;oLFksrhy L=h iq:"k ijrRos JefoHkkx.kh
(d) iq:"kiz/kku laLd`rh (M) ojhy loZ
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SOCIOLOGY

(Social Problems in India)
Time : Three Hours] [Maximum Marks : 80

¼fgUnh ek/;e½
lwpuk,¡ :– (1) lHkh iz'u vfuok;Z gSaA

(2) lHkh iz'uksa ds leku vad gSaA
1. lkekftd leL;k dk vFkZ crkdj] lkekftd leL;k ds Lo:i Li"V dhft;sA 16

vFkok
^fo?kVukRed ǹ"Vhdksu* fo'kn dhft;sA 16

2. tula[;k c<+us ds dkj.k fo'kn dhft;sA 16
vFkok

Hkkjr esa ^tula[;k /kksj.k* blij fyf[k;sA 16
3. la{ksi esa mÙkj fyf[k;s %

(v) LFkykarj dk vFkZ 4
(c) csjkstxkjh ds ifj.kke 4
(d) fdlku vkRegR;k ds dkjd 4
(M) LFkykarj ds dkj.kA 4

vFkok
(b) csjkstxkjh dh ifjHkk"kk 4
(Q) LFkykarj ds ifj.kke 4
(x) LFkykarj dh ifjHkk"kk 4
(g) csjkstxkjh ds dkj.kA 4

4. la{ksi esa mÙkj fyf[k;s %
(v) e|fodkj dh ifjHkk"kk 4
(c) vaeyh inkFkZ nq:i;ksx ds Lo#i 4
(d) e|fodkj dk ifjokj ij ifj.kke 4
(M) vaeyh inkFkZ lsou ds dkjdA 4

vFkok
(b) vaeyh inkFkZ nq:i;ksx dk izHkko 4
(Q) e|fodkj ds dkjd 4
(x) e|fodkj ladYiuk dk vFkZ 4
(g) vaeyh inkFkZ ds lsou dh leL;kA 4

5. fuEufyf[kr esa ls ;ksX; fodYi pqfu;s vkSj fyf[k;s %&
(1) ßfookg ds volj ij oj dks o/kq }kjk ;k o/kw ds ifjokj }kjk nh xbZ laifÙk o migkj gh ngst

gSAÞ ;g ifjHkk"kk fdlus nh gS \ 1
(v) eWDl jWMhu (c) eWDl oscj
(d) eWDl vk;Ogj o ist (M) buesa ls ugha

(2) __________ ngst izFkk c<+kus ds dkj.k gSA 1
(v) lkekftd izFkk (c) tkfr O;oLFkk
(d) lkekftd ntsZ dh xyr dYiuk (M) mijksDr lHkh

(3) __________ bl o"kZ esa ^ngst izfrca/k dkuwu* vfLrRo esa vk;kA 1
(v) 1961 (c) 1960
(d) 1861 (M) 1860
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(4) ngst dh leL;k ds fuewZyu ds fy, __________ vko';d gSA 1
(v) ngst fojks/kh tuer fuekZ.k djuk
(c) yM+fd;ksa dks f'k{kk iznku djkuk
(d) thoulkFkh pquko esa Lora=rk iznku djuk
(M) mijksDr lHkh

(5) orZeku dky esa dkuwu ds vuqlkj Hkkjr esa fookg ds fy, yM+ds vkSj yM+fd;ksa ds U;wuÙke
mez __________A 1
(v) 16 vkSj 18 o"kZ (c) 21 vkSj 18 o"kZ
(d) 30 vkSj 21 o"kZ (M) 21 vkSj 20 o"kZ

(6) Hkkjrh; naM /kkjk ds vuqPNsn __________ vuqlkj ngst ysuk naMuh; vijk/k gSA 1
(v) 319 (c) 304
(d) 308 (M) 310

(7) loZizFke 1942 esa fdl jkT; esa fookg foPNsn dkuwu eatwj fd;k gS \ 1
(v) lkSjk"Vª (c) eqcabZ
(d) cM+ksnk (M) enzkl

(8) __________ rykd ds fy, tckcnkj dkjd gSA 1
(v) iszelaca/kh Hkze (c) ijLij fojks/kh LoHkko
(d) fod`r O;fDreRo (M) mijksDr lHkh

(9) fookg ds ckn ifr vxj __________ bl izdkj dk O;ogkj djrk gS rks iRuh rykd ys
ldrh gSA 1
(v) cykRdkj (c) xqnkeSFkwu
(d) ØwjO;ogkj (M) mijksDr lHkh

(10) ifjokj fo?kVu dh vafre lh<+h dk eryc __________A 1
(v) ?kVLQksV (c) xqukg
(d) fookg (M) buesa ls dksbZ ugha

(11) rykd ls irh vkSj iRuh ds oSokfgd laca/k __________A 1
(v) lekIr gks tkrs gSa (c) lekIr ugha gksrs gSa
(d) etcwr gksrs gSa (M) buesa ls dksbZ ugha

(12) fgUnw fookg dkuwu __________ /keZ ds yksxksa ds fy, ykxw gksrk gSA 1
(v) fgUnw (c) ckS)
(d) fl[k (M) mijksDr lHkh

(13) rykd ls __________ leL;k fuekZ.k gksrh gSA 1
(v) cky vijk/k (c) HkXu ifjokj
(d) efgykvksa dh leL;k (M) mijksDr lHkh

(14) fgUnw fookg dkuwu __________ bl o"kZ vfLrRo esa vk;kA 1
(v) 1961 (c) 1955
(d) 1855 (M) 1861

(15) rykd ;g ,d __________ leL;k gSA 1
(v) vkfFkZd (c) jktfd;
(d) lkekftd (M) buesa ls dksbZ ugha

(16) __________ dkj.kksa ls ifjokj esa fL=;ksa ds Åij fgalk ds izdkj gksrs gSaA 1
(v) yM+dk ;g dqy dk nhid gksrk gS
(c) vFkZO;oLFkk esa L=h&iq:"k ds vuqlkj JefoHkktu
(d) iq:"kiz/kku laLd`rh
(M) mijksDr lHkh
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